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Objective Type Questions

1. (a) @8 &R H =99 Hifw :

. LS-40 Choose the correct answer :
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Note - There are three section 'A' (compulsory) and 'B', 'C". (¢)  As both differential and vector |
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The intensity of electric field at anypoint in between

the plates of a charged condenser :

(a)

(h)

(c)

(d)

(i) Frras & aew fag smfa 2

(59
(®)
(®)
%)

[s directy proportional to the distance between
the plates

In inversely proportional to the distance be-
tween the plates

In inversely proportional to the square of the
distance between the plates

Does not depend on the distance between the

plates
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Kirchhoff's vdltage law is based on :

(a)
(b)
()
(d)
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Conservation of energy
Conservation of momentum
Conservation of charge

Conservation of mass
P.T.O.
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_).mmw SR’ o Y e B7 = R aea akier
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Whatare 'Steady'and 'Non Steady' currents ? Deduce equa-
tions of continuity for them. ‘
HYqr/OR
FrT yrere! e oftedt @ ey -
(i) =19 wRey F Faa sl oRdy ¥
(i) /@ uitay § Saa afiar 3
(iii) 5/ uftuy § daw Rew 2
Explain following a.c. circuits :-
(1) When there is only on ohmic resistance in the circuit,
(i) When there is onl'y a capacitor in the circuit.
(iii) When there is only an inductance in the circuit.
" GHE e AR e ded Sk 0d gRi
oI o A S el B asws g ik |

Obtain expressions for the torque acting on a rectangular

and a circular current loops suspended frecly ina uniform
magnetic field.

HYAT/OR
e @l a3 ARy vt & a1 aud e e B
forg TR ST i A T T i |
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(¢) Inthe direction of flow of energy
(d) Along E in half cycle and along Bin remaining
half cycle.
(b) Rt vl @i gfif &fu
Fill'in the blanks :
(vi)  Rar A A Rre R eeRer g e

A vector leld for which divergence is zero is called

the....ooeeins field.
(vi) 9§ daet o s 8 F.o Ay o Faand £
Vectors those are linear also known as............ veetors.
(viil) lev=............ ST |
lev= ... joule

(ix) U A9 U G Qe Sy q arg (an i) i
Teh ey gl O e Y3 W T i e
A AT B B U ferd NAY el 2 |
The charge which when placed in air (or vacuum)

at a distance of one metre [rom an equal and like

@,\,) P.T.O.
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charge exerts a repulsive force of............ newton

is known as one Coulomb.

(x)  FQwar geirE R d e 2

(xi) IR @ 9ferty o aReT @ qea Radies a9 w5 ge
el & Rrd ey @ e g @ aea o e
T .o T &R 2
The time constant of a circuit containing on
inductance and a resistance is that, time'in which

current in the circuit increases from zero

t0.verenee times it's maximum value.

(XI1) e, STRRY i ST BB & |
................... is called gyromagnetic ratio.

(xiii) T A FHiE g B o Fifee graeha st
H G A9 A g A ¥

The magnetic moment of a uniformly magnetised
substance is called magnetisation vector on the

intersity of magnetisation.
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- Define curl of any vector field. Find its value in cartesion

cOoFdixlates and prove thatcurl 5 _ ¢, A Where V is vec-
tor 0pérat0r.

HYGT/OR
e srepe @ A § Bt O ger oud 5 ausd |
Explain any three of significant uses of partial diffrentiation

in physics.

‘vs/ﬁgﬁ%gaﬁwam%?mﬂﬁga%gaa%waﬁua@

m&ﬂﬁﬁhﬂﬁiﬁgwiﬂgﬂﬁw%wwmﬁ
What is meant by an electric diaple ? Obtain expressiong
for electric potential due to any electric diapole at any point il?
end on and broad side on positions.

FHYGI/OR
R 1 2 7 WeAn g @R e deia @ aiiar 3,
oTav fo e, o i Hiv)

What isa condenser ? Establish experssion, giving neccessary

diagram for the capacity of a paralled plate condenser with
a medium.

Yo P.T.O.
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Calculate :
=" [ rdodr

ﬁgaagga%wa&ﬂnﬁaﬁﬁmﬂ%wﬁgﬁﬁwam
g & dieen % e Frift i

Deduce explessmns for the electric potential and the
internsity of electric field at any point in end on position
due to an electric quatrupole.

SFTOR |

& A SO % e SRS R E o 1 ) @ o s
Find the boundary conditions of E and D at the 'interfaicé

spearating the two homogeneous dielectric.

¥ T 9Rud fRsawer w Rl Rife |

v
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Wrie short note on analysis of multi-loop circuiits.
HIIT/OR :

A O WA ST GRwe ¥ s R

Distinguish between the series and the parallel resonant

circuits.

ART T Bl o B PaE R o R g 2.7

ST GaH FA1 e B9 @ ot e |
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What is meant by the lorentz force ? What are the factors
it depends upon ? Explain the conditions for it to be mini-
muinﬁnd maximum.

HIGI/OR
qR-Aae Frm d9et w9 § Rifed der e |

State and explain Biot-Savart law in vector form.

- 2000 % 3l wh IR Hrsel A BN gon Amr 10 AR ¥

FH 0.3 Fa/A Fa B g A B e T
180°gmﬁmamr%|§‘aﬁatﬁwﬁqﬁaﬁaa%ﬂwmm
uf&gvﬁzﬁwfxozaomrwm%warwﬁ%m=
1 iy S o & a ol § (i) R gy mess =t e (i) E
IRE ARy A o i

A cricular coil having 2000 turns is of are 10 cm?. Keep-
ing its plaﬁe normal to a magnetic field of intensity 0.3
wb/m?, it is rotated by 180°. Calculate the change in mag-
netic flux. If it takes 0.2 sec. in rotating the coil and the
resistance of wire of the coil is 5 ohms, calculate (i)the -

induced e.m.f. and (ii) nuluu.d current in the coil.

/Sg P.T.O-
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GT?RIT;OR
T TR [T g T arg-ER g (=, = ) W
afer Bt &1 AR ER  arg B Wi srEdiE 2.42 % & gex
VT ST M1 | AT e & Rl qeaftar q aer et
T & STl et Sl i @ et @ FrogRy e A ? R
¢ - tan 67.55°=2.42

A plane electro magnetic wave is incident at the air-dia-

mond interface (1, =, = p,) If the refractive index of”’

diamond with respect to air is 2.42. Calculate the Brewster's
angle. What will be the ratio of amplitudes of reflected
and refracted waves with that of the incident wave for
normal incidence ? Given - tan 67.55" = 2.42
gvs - ‘g’
SECTION -'C'
e g g 9x5=45
Lbng Answer Type Questions

. ToBRlT At 8 & el &) uitmer SiRTT ) seer A T Pt
A 9t TG AT Res B A = Vx A TR ¥ A AR
3 o S
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(xiv) TET AT RIT W SFAHHT & ITANT A 220
diee W REe AR e IuvieRTel @ i o ¥
At the power sub stations.......... transformer is used
to reduce of electric-power to 220 volts before its
distribution to the domestic consumers.

(xv) 9efl & A @ 80-30 Bflo d &t argrved B A

The region of atmosphere above approximately 80e

300 km. form earth's surface is called.......... %
g gE - g
SECTION - 'B' S
Y T U | §x5=25
Short Answer Type Qucstions‘
2. Rar ¥ A=i-j+2k @r B=3{+2j—k o 7@ &0
Given A = i-j+2k and B ='33 +2] -k then find
M AB ) Z«B
FHYI/OR
MO FHFAT
36 " PT.O.
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(iv) M ARE @ IR I o sw R B 1 aw

(37) uH qER @ sfERia )
(@) s gE @ o w0
(@) P ot & ar @ e R X9
(8) ¥ =T T WA |

-Two beams of proten moving parallel and in the

same direction will

(). Repel eéch other

(b)  Attract cuch uther

(¢)  Dellect perpendicular to the plane of beams

(d) Exert no force

(v) [0 o am # qufen A= g # Fram AFr 2
(1) E® @i
(@ B % @R
(@) oo vaE # Raw @ e
(®) omd=m d E & ol aur dv o = A A B iR
The direction of poynting vector § in e.m.waves is :
(@) Parallel to g |
(b) Parallel to B ’
onlinebu.com | g Rat
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Derive an expression for the magnetic field produced at a
_point on the axis of a current carrying long solenoid inside it.

ll.wmwemmW%exéﬁﬁa@laaﬂlﬁnﬁPams
® WA B 1 @ L, 21 3R 37 meg onmst s gor
A R e 6 & el & mer smeg v M= (L, L,
am

~ Explain meanings of self induction and mutual induction,
The self im'i'uclances of two coils P and S are L, and ng
respectively. The coupling between them is ideal then proveg:
that the mutual inductance between these coil is;UD'
HIG/OR

Frafa 5 foga gredig awit & § awr g & R awr @i
Fifeer e qon R a0 B Fraf & @< & o o e B
C=14u, g it 2|

. ~ = -, ’ .
Deduce wave equations for E and B in electromagnetic

wod*

waves in vacuum and proof that in vacuum the speed of

propagation of wave is C =/, &, .-
+++
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